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(@) BILHE: w7, P.x;) = u (T.P)+ RT Inx; [=(w;°(T)+ RTInP)+ RT Inx;]
(b) HE: W (T,pp)=w;=(TM)+RT Inp; [=w;T)+RTInc;RT]
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(o488 o)
dG = (yzﬁ(T,P,xz)— ug(r,p,xz))an - (AgGZ)dE -0 e o o
B e @41 )
2 ABGy = W (1. P.xy) - U (T.P.xy) e v o
2 222 gq
- (‘,,,i/:(”,) ) Méfx<r.p))+ RTln(xf /xg) (o)
_ ABc. = B _
= 4Gy *+RT ln(xz /5§ ) - B 4w, BHOHEFE (7, P)

2)EHR—&REEZECLETEHDH
AgCl) = Agg” +Clag)”
AG = (u(Ag*) + u(cr>) — U(AgCl)
= [(u *(Agh) + u ¥ '(Cl’)) -u’ (AgCl)] + RT Inm(Ag*) - m(CI")
= AG*'+ RT Inm(Ag")-m(C1") =0
5-5(4-7) XTXDHERE [SH8R]  [=Q+c'p-[p+c'(p-D+r+m]

5-6 ZHEH<BED> =2+[c'-(+m)]-p=2+c-p
5-7 BEERXTATRILY—

5514[E-10(1)
5% {LPEH-4
5-8 FMITRIFTEN-REOTE-IL- v IDER-1
5-8-1 EHRIFITENDOEE (BRE—F)
OEE : 2EPIEM=>REKDARBEVIZRIT S,
AW, FERLOFRICEEHLE (S 1EThb,

dV = JV;-dn = BV, (vid€) = (FviV; JdE = (AV)aE  (RopihH)
= (aV 1 08); p dE = [(cV +dVy) - (aV, +bVy)|dE V© = D Vi@

<EE: AVRIRIGEENEDEZD, ERFYMERGYDIRBEDZE>

EAEN0EE
() dV<0: AV<075, dE>0 —FHUEFERGDAMIZT NS,
(2)dV<0: AV>0755, dE<0 —>FHMELERICDARIZT b,
B AV=0%n, dVv=0 >THMBFEEDHZEEZITEL,

5-8-2 TEEBDENKFE
(EABTFE (91K, /0P) =0 (9K, /3P), = ~AV-Vieum | RT ==Av/P

@ BEFEE  (simk,/0P), -4V /RT (9InK,, /9P), = -4V IRT




%14[E-10(2)
5% {LPEEH-5
5-8-3 EMICRIFTEEOKE (EH—5%)
OFEE: ROBETHNEM=>RIEBFRIN=>READIUZI/ILE—HIZHEMN
HEAMIZ, BRSO A BIZEHLE (8)IETNhD,

dH =Y Hy-dn =3 H; - (vidg) = (vl )ds = (A.H ) dg
= (0H 1 98);. pd& = [(cHe +dHy) - (aH , + bHy)|dE
REENOZE
(1)dH>0: AH>0785, d§>0 —>FEMERERGOHAIZTND,

QdH>0: AH<0%5, dE<0 >FEHHUBEFHERIGDAMIZT NS,
BR)AH=0%B, dH=0 >THEEIXEEDZEEZITEL,

5-8-4 FHETEHDREEFIE
(DSABFH (oK, /07), = AH*/RT®  (3InK,/dT), = AU/ RT?

() %ABFE® (oK, /oT),=AH /RT* (9InK,, /dT),=AH /RT*

5-9 FEHEHE, BEREBTOERMERIENOBRNEEDE
(5_8—5) %ﬁl)hnt"—%ﬂ: * * * *
AG =-RThK,, AG =AH -TAS

%14E-11

8E {LERRICEE-1
8-1 LRI RED— BT RE
(D eZE RS EEE (J or v)
RIS E— S+ dSITEFITLIZEED, i DB ENDZEILE dn,

dn; = n; (& + dE) = n;(&) = [n? +V; X (§+d§)] —(n? R % é‘) = vid§
ERERGERET &, ERERIGEREy (BEAEHI-YDORIGEE)
dg _ 1dn; V_ld_g_liﬂ_ii(ﬂ)_iﬁ_i@
di vpdt — Vdt Vvid vidi\V)} wv; dt v; di
8-2 —RRIGEZRRIGDEER

RIGRBEEER (MR, BHE), —RRIS-ZRRIE
FRICHEBEOEVIEEXDENEEAHL TS,

v=_d(a—x)=g=k(a_x) > h2 _u ® k: RIGIREEH

e i a=x (RIEDESZERS)
v=—m=g=k(u—x)2 L —l=kt (EZE&YL)

dr dr a-x a

! (—lna_x+lnb_x)=kt - L ple=n
a b a-b alb-x)




%14E-12(1)

8% bERIEE-2
8-3 RIGRBMDRTE
(1) 3 #A
Q)5
8-4 BWERIE
(1) JBRIG &R R
F=RIG:EBRREN—DDORIG, TAULASBETEEVLRIG
HZRIGIZEAELTWA D FOH: RIS FH(—DF RIS ZHFRIG)
RIERHMIIRIERTORISHMDIEZERBZRBE—BT S,
GEERIG2DOUEDERENSEERE
BRI TOEEER

Q) WBNBLHEE R I
@R FE RS RERISEECEBEERRIG
EHIREALLE : RISH+2ITETLTERREISES 5L, RICHREE
DREIF—FEITHDEELT S,
ERREBRELEZRAVSE, FER (MO AERX) AL h D, F:,
RISHELFEUDITT, ERERMNGFHIND,

@-1 ERFHICEST, —REBPZRRIEIZ5H]

F14[E-12(2)
8% {LERIEIEE-3
ORIEDIRILF—TOT4)L

(% BRBE RIS TR ERFE] EE eI RILE—
EERRE 7

P
G s

R

(kR
ek

@ (b) i) © ERF)

7]

SR SRS A

(a): |ERIG (1ERBE =) (b), (c): 2 BB S It (2 EXBE) —h ik

EHEAETRILF—EE) FRISEEEHRL ICEENSD,
RIGEREE, RIGMDFLERYMA FICELDICONTEILRLTS
FTRTOXEEFHICERT DT, TRTEEEMICIFE R TERLY,




$14[E-13(1)

8% tERICEE-4

8-5 RIGEEEHKL OREKREYE
8-5-1 FEHETRILF—
-RIGREESL SRET EOB%:

Ink = —%+IHA k= Ae E'RT _ Aexp(~E / RT)

8-5-2 Arrhenius®& % A-EHTER
OB R ES AR CEHILIREICHIFEEIR) OFE
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